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No. | *222 | wimrs AEA mEAR | oS # -
5[l Fir[a]
1 1-4 nms [ ENma) 108298 0.23
2 1-5 n\F | ENRE2) 10A298 0.31
3 1-6 nm# [ ENIRE) 108298 0.32
4 1-7 n\F | ENR@4) 10A298 0.31
5 2-4 nm# [ ENIRG) 108298 0.24
6 2-5 n\F | ENR6) 10A298 0.25
7 2-7 nms [ ENIRG) 108298 0.36
8 2-8 n\F | ENIRE) 10A298 0.43
9 3-5 nm# [ ENIRQ) 108298 0.24
10 3-8 nm# | ENRAG0) 10A298 0.39
11 3-9 JIRA | ENRGT) 108298 0.35
12 4-5 nm# | ENRQ(12) 10A298 0.25
13 4-9 JIRA | ENR(3) 108298 0.40
14 5-5 nm# | ENRQ(14) 10A298 0.24
15 5-9 JIRF | ENIRO5) 108298 0.33
16 5-10 nm# | ENRG16) 10A298 0.38
17 6-4 JNRs | ENRG7) 108298 0.32
18 6-5 nm# | ENR(18) 10A298 0.33
19 7-4 WA | ENR9) 108298 0.28
20 8-4 nm# | ENIR(20) 10A298 0.28
21 9-4 WA | ENIR21) 108298 0.24
22 9-5 nm# | ENlR(22) 10A298 0.21
23 9-6 JIRA | ENIR(23) 108298 0.20
24 10-4 nm# | ENlR(24) 10A298 0.27
25 10-5 WA | ENIR(25) 108298 0.26
26 10-6 nm# | ENlR(26) 10A298 0.22
27 11-3 JRF | ENIR27) 108298 0.34
28 11-4 nim# | ENIR(28) 10A298 0.34
29 11-5 WA | ENIR(29) 108298 0.34
30 12-5 nm# | ENIR(30) 10A298 0.23
31 13-5 JIRA | ENIRET) 108298 0.24
32 14-5 nm# | ENIR(32) 10A298 0.24
33 15-4 JIRA | ENIR(33) 108298 0.44
34 15-5 nm# | ENIR(34) 10A298 0.21
35 16-3 JIRF | ENIR(35) 108298 0.26
36 16-4 nm# | ENIR(36) 10A298 0.19
37 16-6 JIRF | ENIRE7) 108298 0.30
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38 16-7 JIRA | ENIR(38) 104298 0.28

39 17-3 N\ | ENIRB9) 10A29H 0.30

40 17-4 JIRA | E)IR(40) 10A298 0.32

41 17-5 nNw\s | ENIR@ET) 10A29H 0.28

42 17-6 JIRF | ENIR42) 104298 0.32

43 17-7 NWs | ENIRA43) 10A29H 0.27

44 18-6 JIRF | ENIR44) 10A298 0.31

45 19-6 N\ | ENIR45) 10A29H 0.24

46 19-7 JIRA | ENIR46) 10A298 0.22

47 20-7 N\ | ENIR@E7) 10A29H 0.27

48 20-8 JIRA | ENIR48) 10A298 0.20
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